8 KNNACC. AOMALUHEE 3BA0AHUE HA KAHUKY /b

1) PewnTb NNHEMHblE HEPABEHCTBA:

a) Tx>-14 w) 0:3x+520
0) -0,3x>-9 3) —(2-3x)—-(x-2)>0
1
8) —3x<12 ) (2x-3) —(4x+1)(x~7)<5(3-x)
r) —9x>10 o 22l
L5+x<-3 2 6
A)
e) 3-2x<8

2) Pelwntb cucTemy HEpPaBEHCTB
x>—4 x<5 x>12
a) 6) B)
x=>9 x <=7 x <45
4. PelunTb COBOKYMHOCTb HEPABEHCTB
x>4 x<5 x>12
a) 6) B)

x=>9 x< -7 x <45

5. PewnTb cUCTEMbI HEPABEHCTB:

S5x-1<2 y_y__1>1
a) 13x+4>-6  6) 2
y
—x< -1 <5
o 3

{(x—4)(5x—1)—5x>x+1 0

3x-0,4<2x-0,6

x<3 x<5 x<12
r) A) e)
x>10 x>5 x>12

x<3 x<5 x<12
r) A) e)
x>10 x=>5 x>12

%(3x—2)+é(12x+1)>0

%(14x—21)+%(9x—6)<0



